Day 5 Answers
Task 1 Task 2 Task 3 Task 4
Developing Task Arithmetic Problem Solving Reasoning
Answers
I. 13:10 Q. Q4.
2. 14:35 1. 92 9 7 hours and 24 minutes
3. 02:16 Q2.
4. D | . | D 2 . 3TU Award TWO marks for three boxes completed correctly as shown: Q5
5 118 An explanation which recognises that 10:35 is after half past ten, eg:
'E- ﬂ;'| 54 3 U “10:35am is 35 minutes from 10:00am but 25 minutes from 11:00am’
7 22:-46 ) EI 10:35 is 10 minutes closer to 11:00°
2. 028 ‘It's closer to 60 minutes’
q. 16:57 4. 42 - + '10:35am is after half past
If the answer is incorrect, award ONE mark for two boxes completed correctly.
+ 'It's past halfway’
Practice 5. 3573 Q3. + 351s after 30 and 30 is half
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Both clocks ticked, as shown:

[wis] [wes] [os]
v

v

Accept alternative unambiguous positive indications, e.g.
clocks circled or underfined.

= ‘35 minutes is over half an hour’

‘It's 25 minutes to 11",
Do not accept vague or incomplete explanations, eg:
« 11:00am is closer
«  ‘Halfway is 10.30am’
+  “Srounds up’
+  ‘There are 60 minutes in an hour"




